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QUESTION 1

Select one incorrect statement from the below about a database cluster.

A. It is possible to have multiple databases within a database cluster.

B. A database cluster is created using initdb command.

C. Each host can have only one database cluster.

D. Special databases called templateO and templatel are created in a database cluster by default.

E. When a database cluster is created, a database superuser is registered using the username of the OS at the time of
creation unless otherwise designated.

Correct Answer: C

QUESTION 2

Select two incorrect descriptions regarding the following SQL statements. CREATE TABLE cities ( name
text, population

float

)i

CREATE TABLE capitals (

state char(2)

) INHERITS (cities);

A. Defines the tables called "cities" and "capitals".

B. "capitals" inherits "cities".

C. Searching "capitals" also searches rows in "cities".

D. The columns "name" and "population” are also defined in "capitals".

E. The second SQL statement results in an error, since the WINHERITS\\' keyword is no longer available.

Correct Answer: CE

QUESTION 3
Given the following two table definitions, select one SQL statement which will cause an error.

CREATE TABLE samplel (id INTEGER, data TEXT);
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CREATE TABLE sample2 (id INTEGER);

A. SELECT sl.id FROM samplel s1;

B. SELECT sl.id FROM samplel AS s1;

C. SELECT data FROM samplel AS s1, sample2 AS s2 WHERE sl.id =1 AND s2.id = 2;
D. SELECT id, data FROM samplel AS s1, sample2 AS s2 WHERE sl.id = s2.id;

E. SELECT sl.id, sl.data FROM samplel AS s1, sample2 AS s2 WHERE sl.id = s2.id;

Correct Answer: D

QUESTION 4

What does the following command do? Choose two incorrect statements from the selection below.
Note: $ is the command prompt.

$ pg_restore -U postgres -d databasel databasel.dump

A. This command restores the database databasel from the file databasel.dump.

B. This command connects to a database as the user \\'postgres\\'.

C. This command can not be executed unless the postmaster is running.

D. This command can not restore large objects.

E. This command must be executed under the condition where the database databasel does not exist.

Correct Answer: DE

QUESTION 5

Select the SQL command that must be executed prior to executing the EXECUTE command.
A. CREATE FUNCTION

B. PREPARE

C. DECLARE

D. LOAD

E. ALLOCATE

Correct Answer: B
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